/\ Parts Information:
TN Table Top Gas Patio Heater 4kW
de"OndQ Model No: DG40 & DG41

40

=
\ [—13)

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Dellonda, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

l 01284 757575 | @support@dellonda.co.uk |® www.dellonda.co.uk

Page 10of 2 DG40 & DG41 Issue 1 5/11/20



Parts Information:
7N Table Top Gas Patio Heater 4kW
dellondo | Model No: D40 / baas
Item | Part No. Description Item | Part No. Description

1 SN6.SD Steel Nut M6 Domed Zinc 28 | DG10292 Hose Clip

2 FWM6.S Flat Washer M6 Zinc 29 DG10293 Gas Hose

3 DG10269 Aluminium Reflector 30 DG10294 Flat Head Screw M4x25

4 DG10270 Flame Guard 31 DG10295 Upper Flame Plate

5 DG10271 Gas Pipe (Elbow) 32 DG10296 Sealing Ring

6 DG10272 Gas Pipe Bracket 33 DG10297 Supporting Screw

7 DG10273 Wire 34 | DG10298 Flame Screen

8 DG10274 Butterfly Clamp 35 DG10299 Lower Flame Plate

9 DG10275 Rivet 36 DG10300 Flame Plate Bracket

10 DG10276 Flat Head Screw M4x10 (Stainless) 37 DG10285 Flat Head Screw 3/16" x 10 (Stainless)

1 MSC410.S Csk Phillips Machine Screw M4 X 10 Zinc 38 DG10301 Flame Plate Tube

12 DG10277 Thermocouple 39 | DG10302 Flange Nut M4

13 DG10278 Connector Pipe 40 DG10303 Main Pole (for DG40 only)

14 DG10279 Main Nozzle - DG10312 Main Pole (Stainless Steel) (for DG41 only)

15 DG10280 Main Gas Pipe 4 DG10285 Flat Head Screw 3/16" x 10 (Stainless)

16 DG10281 Ignitor 42 DG10304 Valve Cover (for DG40 only)

17 DG10282 Valve Connector - DG10313 Valve Cover (Stainless Steel) (for DG41 only)

18 DG10283 Elbow Connector 43 | DG10305 Ignitor Nut

19 DG10284 Gas Valve Knob 44 | DG10306 Piezo-Ignitor

20 DG10285 Flat Head Screw 3/16" x 10 (Stainless) 45 DG10307 Tip Switch Bracket

21 DG10286 Burner Base 46 DG10308 Tip Switch

22 DG10287 Flat Head Screw M5x8 (Stainless) 47 DG10294 Flat Head Screw M4x25

23 DG10288 Gas Valve 48 DG10309 Plastic Ring

24 | DG10289 Backing Disc for Gas Valve Knob 49 | DG10310 Stand (for DG40 only)

25 DG10290 Valve Nut - DG10314 Stand (Stainless Steel) (for DG41 only)

26 | MSP58.S Machine Screw Pan Head Phillips M5 X 8mm 50 | DG103MN Counterweight

27 | DG10291 Valve Seat 51 $S625.5 Hex Head Set Screw M6 X 25 Zinc

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Dellonda, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

LlE 01284 757575 | @ support@dellonda.co.uk |® www.dellonda.co.uk

Page 2 of 2 DG40 & DG41 Issue 1 5/11/20




